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Equations: Order of Operations 

An equation 



 Page 2 

 

 

   
Step 3: Subtract t from both sides of the equation 

 

   
Step 4: Divide both sides of the equation by 4. 

 

Answer: t = 8 

 

Example 2: Evaluate the expression for c = 3: 

  2(c + 4) + 2(15) 

 

  (1) 2(3 + 4) + 2(15) 

  (2) 2(7) + 2(15) 

  (3) 14 + 30 

  (4) 44 

 

Step 1: Substitute 3 in place of 'c' in the expression. 

Step 2: Add the numbers in parentheses. 

Step 3: Rewrite the equation after performing all multiplications in order from left to right. 

Step 4: Add 14 and 30 to get 44. 

 

Answer: 44 

 


